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1 2
= Jd 

* 10,000

= 2.AO0m?

2 2,000 'Iwo lhourond
+ 4l 'fo..r.tY one

@i
3 25

Z.Skttt =;6 x 10,000 =
25,000rjrn = 25,00(

4 488.'
=-X-B . 1000

1?,2,

1000
= O.122

5 5U.S$=2,2SAF
12.ZSOt

1 u.s $ = (-, Jr'
12.250 x 500r

s00us$ = (-+,)rr
= 225,000Frw

6 2 e11gs tnZlitres = 5t

7 eg$ itt? litres :5t
3 eggs irt?lii:-'e = 5t

(Canstant propo

7 Fe = 1,3,9 (3 f actors)
F15 = 1,3,5,15(4 factors)
9 and 15 ar e not pr ime number s

I 2t=1A+10+1
=x*x+l
= XXI

9 L35 3
v-

L0,000 100
405

=--1,000,000
= 0.000405

10 3r--.3=x*9
3x-x=9*3

2x=72
2x 12

-=F
22

11 1004+90P=LZ,?.OO
substitutc(a = 50)
(100x50)+90P=t2,2AO
5,000+90P=LZ,?AO

90P= 1.2,2OO -5,000
90P = 7,2AA

90P 7,204
36- = eo

P=80
T here f or e peas cost SAFrw / k tl

12 7st = x -l- Z, TndTlo =
Zx-l-6=ltj

Zx=111 *6
2x 72
,) ,)

X:6
1st=6*'2=B 2td*
Product = Ls'rto x21

=8x10
=80

13 l214l5l8l x I

lslvl26l65l101i
14 9+LZ

7

2L

7

=J

15 Let the origittultt.tt
= 100% -l- UYo

= L$lJa/o
108

x ='1..296100
7,25)6 x ! 00

10u
x = 1",200
\'he oriqina,lnutnb

x2+L=yxz+L=y
4x4+!=y fr,z,:11-101

t6+L=y :x2=101-1
1,V=y x2=!00

. l*2 =Vto0
r=10

16 P=SP-CP
= 90,000I; * 75, 000F

= 15,000I'
Px100

o/oP = *-lF-
15,000 x 100

=-E366--
='20a/s

17 t6 1r

l6=il LCD=70

fr * to = 7... ...... (iii)

|xrc= 5.........(i)

| * ,o = 6......... (ii)
637

= IZ,B,16'

18 S tnen = 1O rlays

7 tn.ant = (10 x 3)do;

210 x 3r
5 r'rr e4 = [*---- ] rla\5/

= 6 tlctys

latio=1500:6000:2il

llint: Reduce all using HCD of

rioo 6000 ?{): --- : --.'500 500 5r

': J : lz:,l

19 Hlnt: We can use proportions
"5tihr = 4x 60 = TSmin

30 arin = 40km
r4Ot

I ttrin - (55j t'tt
/40 x 75\Tsm,in=(--o io*

= 100ftrn

2A Ix1007-+'- PxIt
4,500 x 1,00

=# 30,000 x 5

= 3 Yeqts

21

22 = (24x 1000) +200+ (150+ 1000)

= 24,0O09 + 2009 * 0.159

= 24,ZOA,\Sg

23 Minute hand Secondhand
lmin = lreu (60sec)

lrev(60min) = 6orev
Zrev = (GO x?)rep

= lT0rev

24 t57r1
=l-=-ly_.\2 9/ L?

591.:-{-X:_
2712

25 Demsitv of aluminiumtrrl=+
Density of water

27AOkg/m3=767;,c
-n n

26 =(tZ*?)+Z =9+2 =4.5cm
P = 12 * 2 + 4.5 + 6 4" 3 + 6 + 4' 5 -l 2

= 40cm

4=(LxW)+tLxW)
= (12 x z)cnrz + (6 x 3)cmz

= 24cmz * LBcmz = 42cmz

21 Y =, 600(o?Posil:e an

x=180'-L?i)oistrt
= 6{Jo

z = Lt]0o - (y 'l- x)(rr:
: 1{J0o * 1.2Au

= 600

f:

= 25,000r{nr

tAdtn

Smin

Srni:l"

5rrirr

rprtrlorr)

x'l 4

'6-l,.4+riino

ufiLber be x

?J9-I?lle-,=*-

l0

.t\
L

,y"s

ys

2000

I of 500

? {)(l(}'s[0"
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A.= Ar p a: o I : gi,quarb .- C if c I e)

{D = 20cm.,r = 20 + Z = t;}cm)

=(SxS)=er2)
- (20 x 20) - (s.14,x 10

= 4aocmz *ll4cmz

= B6cmz

I p5 ya5;5 "'"r

'II,:

= 20ct4x Z0cmxZOcm

= 8;000em3

Change 8,000cm3 t;o litres
9,000:-
1,000

= B lftres

Nlode = 71

^, 
_ (11x 4)-r- (12 x 3).i (13 x 2) F (1.4 x l)

+.t3.t2tt
+4 -t- 36 -t- 26 -t 't_4 1.2{J: -i6* - 12

ls
,11

29

12

13x 10)

a

I

31

Salary =

Part {a)

1,000 x 360
4

= 90,000F

Part-{F)

Eachdesree =W= +# = z5oF

Food=120x250=30,000F

Re.nt = 150 x 250 = 37, S00F

Itled.= 25 x 250 = 6,2S0I'
Cig.'=5x250 =L,ZSOF
Trans=32x250=8,000F
Tel. = 24 x25O = 6,000f

I32 Part (a)

f.S.A=Z(LW+WH+LH)

= Z|ZO x 5 + 5 x 1.0 * LO x ZO)cmZ

= 2(100 + 50 + Zoo)cn?
: 2 x 3lticm?
:70\cm?

V=Lx#xI/
: ZAcm x Scm x 10cm

= 1000cm3
Part (b)

S':f1000cmr :10cnr
part (c)

IS-rl=6xTxS
= 6xLOcmxl}cm
= 6o0cm2

I33 I Part (a)

I ['xt = 18oo - Irrt
| =180"-1504
II =so'
I

I Part {h)
I 360'in-*-
I Ext
I 3oaol:I 30,

= LZ stdes

Part (c)

l> = l34cttt
12,f = B4cnt
12S {34ntz

12 12
S = Zcnt

&XJa)
CSA = n'rt

= 3.14 x 6ctTt.x l}cnt
= LI]!J.4cmz

&dlb)
1^

V = -TrzhJ

l
= I * 3. !4 x 6ctn x 6,cntx gcrrr

= 301. 44cm3

I Part (al

I n = r.o6sm2
I *' = T"oGSmz
II " 7.o6sn*
t,

| 3.14
t.--

lrz = "f 
z'zsmz

!r=1,5m
H(!)

. vot 14,t3,Admt
Q=- ttrz 7.OGSrnz

l4,730dms l4,L30d,nf=-(7.065 x t00)dm2 La6.5dmz

14,13C x 10 t4t,3oldmg=- =106.5x10 7,A'Sdmz
= 20dm

35 (c)(;). 6irts * Boys = 300

x*Zx = 300

3x 300

-=_33
a-1.*100

Boys=2x100=200&oys
(ii).6rrls = r = LOO girts

L6
(b).= 

100 
x 100 = 32 boys

1(c).=f x100 =Z0girls
20

fa).=,frx loo = 6X%

36

37

60min
1ss ='L0

= 6min.
(n).Ssq = 7Akm

20km
1Sa = ---'5

=4km
(c).= (10 x4) = $Okm
(d).At 9:00am
(e).= (10 x 6) = 6Amin = ! hour
/r\ ,c _ Total Distance BOkn
v t,rlr -;;l-;]r-:---: ]=-

r+4

(a).10s9. = 60mln(lhr)

Akm l20km
;;; =--;;- =3okm/hr

MATHEMATTCS WORKBOOT( FOR pnrMABy SU nevrsroIouesrroNs or pesr plFEns


